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QUESTION 1

HOTSPOT 

A customer temporarily needs to add an additional network connection to a provisioned server that is being actively
managed by OneView. The server is currently powered down. Which top level option should they click as the first step? 

Hot Area: 

Correct Answer: 
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QUESTION 2

A customer plans to replace their c7000 equipment with Synergy. 

What is the most important thing to consider about installing Synergy in the existing rack environment? 

A. A Synergy frame is physically deeper than a c7000 

B. A Synergy frame is taller than the 10 U required for a c7000 

C. A Synergy frame requires more power feeds than a c7000 

D. A Synergy composer requires 2 additional rack units 

Correct Answer: A 

 

QUESTION 3

A customer needs to migrate their current c7000 network and Fibre Channel infrastructure to a converged network.
Which interconnect module should the customer use? 
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A. HPE Flex10 

B. HPE 8Gb Fibre Channel pass-through 

C. HPE FlexFabric 20/40 F8 

D. HPE 16Gb/24-port Fibre Channel switch 

Correct Answer: C 

 

QUESTION 4

A retail customer\\'s real-time analytics application requires the fastest possible data access and over 768GB of
database capacity. Their current HPE ProLiant DL380 Gen9 servers are not meeting the performance requirements. 

What should you recommend? (Choose two.) 

A. iLO5 Advanced licenses 

B. HPE Scalable Persistent Memory 

C. HPE ProLiant DL380 Gen10 servers 

D. PCle Workload Accelerator 

Correct Answer: CD 

 

QUESTION 5

DRAG DROP 

Match each HPE technology solution to the customer\\'s business need that it can fulfill. 

Select and Place: 

Correct Answer: 
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